[ &#5]

BRI EREEEMXABEIEMNR

v | x| owm | ome | B | R L R | e
No. iltzt - gg g;é gé f{@ﬁf f{@ﬁf oy el *”T/%Q# ﬂ?ﬁlﬁ.{- (Q%iiéjillﬁﬁiﬁ) IR/ 2R
*250% spinmafopinma| (Al (8] (cl o) —
RRE | IEE FRE | Ak
T 1 B EREE—CE bR 170 | O 3 T 12
212 BIIBRRSE_RER 100 (@) 3 5 5
33 RECELEEXEREM 130
4| 4 BIERREEER 60
5[5 TBIERRER 80
66 ib/wl;fd%ﬁ@iﬁaﬁ@ 30 825 9 18 20 1.09% 1 27.3% 1
717 hAFKRERICCICCE 40
8|8 bAIKEEELEHE 80
99 BUSERBE 50 | O 3 2 3
10| 10 RECELEVEDLYHHE 40
11 11 RECELERABIEMESSHHE 45
12 1 - BN ILFBIIRBFR 90 [@) 6 11 12
13] 2 RAEREE 60 | O 3 1 1 . .
s Iﬁ*f‘%ﬁ@ 0 285 9 12 13 | 316% | 8 500% | 6
15] 4 RECCLEFEREE 95
16| 1 RXREE 110 [@) 6 4 4
17] 2 CUOLEER 0| O 3 3 5
18] 3 - BENREE 100 (@) 3 4 4
19] 4] 5 [EARRER 30 615 18 15 17 2.93% 7 57.1% 7
20| 5 Fa—EVFREE 90
21] 6 NUERECELE 75
22| 7 HAERICELE 120 O 6 4 4
23] 1 BEREE 90
24| 2 BIEVWWEREER 100
25| 3| 2 [ouhRECELE 120
26| 4 | B [mriRRER 30
27] 5 | 5 [EEMMRRECELE 90 | O 3 3 4 752 12 14 16 1.60% 2 44.4% 5
28] 6 | g [T—RBEE 102 | O 3 6 7
29| 7 |l [BECELEEAHLREE 80
30| 8 RECELENDIFHEER 80 @) 3 2 2
31] 9 HEICELE 60 | O 3 3 3
32 1 BIIBREE=CEHE 90
33] 2 BEFRB)IRECELE 0| O 3 5 6
34| 3 = KERBE 75 [¢] 3 2 2
35 4| 5 [BIERERER 70| O 3 3 3 490 9 10 11 1.84% 3 42.9% 4
36] 5 FOEFEOREE 90
37] 6 RECELEEEYRE (FE) 45
38| 7 BECCLEEEYRE HE) 30
39 1 REREE 90 | O 3 6 6
40] 2 LonERECELE 60
4] 3| L [REB=CEHE 105
42] 4| 7 [ImRCELE 100 | O 3 2 2 535 15 19 19 2.80% 6 71.4% 8
43| 5 BIHMLHREELE 80 | O 3 3 3
44| 6 KREZEEY 70| O 3 6 6
45| 7 REEERDELE 30 | O 3 2 2
46 1 LEEBETORE_ELE 125 | O 6 4 4
a7] 2|, [ENHIETRER % | O 6 3 5
48] 3| g [BIBERARRER 60 476 21 13 15 4.41% 9 80.0% 9
49| 4 bhERER 100 | O 3 3 3
50| 5 REIDZEHZELE 95 | O 3
51] 1 TN XBRER 120 | O 3 6 6
52] 2 RECELERLUHPHEEE 60
53] 3 KWLIF-HREE | O 3 2 2
54| 4 FLRBEE 60
55| 5 | % [BECELEALKBGHREEE 90 . .
616 | U [Fippro@esrom % 860 18 18 18 2.09% 5 40.0% 3
57| 7 AUBHELRER (HE) 30
58] 8 | |eEoEFRBE 70
59] 9 ALUABREZELE 125 | O 6 6 6
60 10 MACELE 125 | O 6 4 4
61] 1 BANRER 5] O 3 1 1
62| 2 ;1; EIEER 5| O 3 2 4
63| 3 | ™ [mIktoERER 100 | © 9 4 4 . .
64] 4 | 4 [RIDFSEEE 80 | O 3 5 5 455 2 15 19 4.62% 10 | 833% 10
65| 5 | B [WIFHIELE 0| O 3 3 5
66| 6 RECELEVEHHE 35
67] 1 TS R E R 66 | O 6 4 4
68| 2 | m [AEEEEE 80
69| 3 | & [IIbH<ERER 60
70| 4| - [BIOUAREER 5] O 3 4 4
71 5 ;Z)@JHETEM%’% 90
2] 6 | g [BIBEEIREELE 60 731 15 11 11 2.05% 4 36.4% 2
73| 71| . [BAERREE 110 (@) 3 1 1
74| 8 | & [BIHPAHRERERRER 90
75| 9 | A [ 40
76 10| E [#EVRER 30
77/ 11 EHEECELE 30 | O 3 2 2
a&r 145 | 159 | 6,024 147 145 159




